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GeomETRY (Q 4, PAPER 2)

1997

4 (a) Find the area of triangle abc if |4abc| =90°,
|ac| = 26 and |bc| =10.
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(b) Prove that the products of the lengths of the sides of a triangle by the corresponding

altitudes are equal.
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(c) The triangle odc is the image of the triangle oab
under an enlargement, centre o.
|cd| =9 and |ab| = 15.

(i) Find the scale factor of the enlargement.

(if) If the area of triangle oab is 87.5 square
units, find the area of triangle odc.

(iii) Write down the area of the region abcd.

ANSWERS
4 (a) 120 square units

(i) 2 (ii) 52.5 (iii) 31.5 square units




